4?@«\ o
2
-F;r"“‘*l“— &‘_. owec
Yoa(e) = (e
U‘(‘k\: P

*'?C"\'—' i—x %"‘\

'e
_3 (SN
»en(/\)

| FC“Q- 3 ,0,1("“+A)[

Con. ([k-r/(>:3

Sun tﬁ A]
) 7= [F = )
> /" (3'\3“) 20 = —51———?—_
e
J N=g0% “ Focmnle W opee
i L c4)]4 ) . Lo
- —/181 +C] wWE) = 6%
1 ﬁc“q: 1’__ > ex
==2 a4 © Ay
J=3_ —*3‘3_*1
Jh‘.' | B r(’*\l: -1
3) K= (? _x A8x"y g
. S xe  dx :f(m\:zxe-"‘
L(: (FO‘\] * “F;rmh u eu
e 4 cwe w(x) = %
:['% ad ] W)= - 2x
b= A o N £ = A_x(-2% ¢*"
= -“2e
2 +’i&-e T - -4—&?
k=_ ie."”_,_ 4.
2 2
(k- it ]

030 2

Gl fee i

{ 20 - (x
Sw (4,4] 2N %e
al el

<G 19(*4: 3

2 za-tnz
% w\

7
doe A = | 20yde
A

-(4
Vio —4»

O - s v

I = C—%—_ Qo-qx:(
+

G
= é_ C.m"'
LAA: AN N

= -3+6

=3

A Vp = /(,\’X OIY en”

= Oxy I W
4

2 en”

q




